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12010 .
ENéLlQH
Full Marks ~ 100 .
"Pass Marks, - 33 |

Time : Three hours

The f:gures in the nght hand margln md:cate full marks for the quest:ons ‘

Answer the questtons in your own words as. faras practfcabls

SECTION-A |
(READING)

'Read the following passage and answer the questions that follow :

Jusi‘ before &arkn}esa fell, on Decembar 3, 19‘71 the Pakistani air
o force bombed mne !ndsan air bases in ‘ihe ra@r&h and the wast, including |
: 5 th@se a& Amn%sa? Agra uﬁd S’magar The ﬂ'nard indo-Pak war was sgnﬁied )
| Wﬁh this air s’mka Pakastara was named ﬂ.‘ne foml aggresw But the
-~ confiict had been mevstabﬂe Two weeks earfier Mdsan forces had moved

into defeﬁsave; posﬁ;mﬁs on ihe Pakistan bordes' and estabhs;hed
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_' _operatnonal bases inside Pakistanin preparanon for an assault on’ Bhaka

' _schedu ed for December 4, tamed to take advantage of the full moon.

Two days later on D@cembsr 6 hdn'a Gandh: ihe Prime Minister

of lndsa stood up ln Parlsament and anmunced indian recogn:tion of

'mdependent Bangl_adesh te-ws!d.accla:m Sha also.exptamed that

_cb‘mbined'tndian and Bangladeshi Mukii Bahini forces were'ﬁghting the

war in East Pakastan Meanwhtle, on December 9 Nzxon, the USs

Presudent dsspaiched a task force of the UusS Seventh Fleet, led by a

nuclear warsh_!_p? the Enterpnse, to the Bay of B@ngaa.
Quesﬁoné '

(a) Complete the fo!!owmg state men**‘

() The third Indo-Pak war was steried when wite *

o (i) TheU S Seventh Fleet was led by the Enterprise,

(b) '-Answer the followmg questtons in o:za senieﬁce / phrase each :

. '(l) What dsd the ane Mmzster of india announce in Parlzament
i on Decembere 1971'? : i gl %

(i) What was Mukti Bahini? | e g
(iii). --What was the destlnatton' of the US Seventh F!eet ? 1

(o) - Answer the followmg question in about 30 words G-t

-'Why was the th:rd Indo Pak confllct mevrtab!e ?
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(d)

Pick Ol:tt the words from the passage which have the same meaning
as: | ' ‘ 1+4=2

() official

~ {ii) .public praise

(COURSE BOOK)

2. Answer the following questions in one sentence each :

(a) What was the most pleasing aspéct of-the expedition to the Dzuko
- Valley? | 1
(b) . In which year was the Cachar Club, the cldest Polo club founded ?
1
_' (c) Whére do the contemporary Indian classical dances have their origin?
| 1

(d) What cost Radha’s husband his life ? :
(e) Forwhat purpose did Deepak need to borrow money from Anju ?
1

3. Answer the foilowing questions in about 30 words each :

() How does acid rain affect the environment ? | 2
(b) - Why were the ancient Olympic Games gliscontinued 7 2
“QOne need not fear the siron@" - <

{e)

76 RM TE(N) 3

How can we beat the strong according 1o Yevgny Yeviushenko ?
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4.  Answer any three of the following questions in about 50 words each :

(@)

(b}

()

(d)

Why does inquistiveness create more problems for the adolescents?
| . 3

- How did Sunita V\ﬁi_liams-capture the imagination of the WOrId? | 3

Why does Aruna Jethwani say that forgiveness is seldom practtsed ?

& : »
Why was Maulana Azad silent when the Partition of India had
become inavitable 7 | 4 : 3

SECTION - B

(WRITING)

5. Write an essay on any one of the following topics in about'200 words

using the outlines given: i 8

(a)

(b)

76 RM 1E(N) - 4

Generation Gap :

[ Outlines : What it means - older generation unable to adjust itself
to change — younger generation rebellious — mutual undéi'standfng

required.]

"Dignity of Labiour :

[ Qutlines :What it means ~ wrong ideas about manual labour -

necessity of manual Iabaijr in the society — benefits. ] .

COntd.'
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(c) Deforestation :

[ Outlines :What it means — practice of deforestation in Manipur —

its harmful effects — remedial measures 's'.uggesté_d,] is

A student of class IV-had been kidnapped from the campus of Paradise
Schaol, Imphal, while he was playing with his friends in the playground
by three armed youths. Imagine that you are a newspaper reporter and
write a newspaper report about the incident which took place on
Novembef 25, 2009 at 1 pr. ' : 5

M. Jelly of Sagolband imphal wntes a Ieﬁer to his fnend Bupui Roy of
Salt Lake Kolkata, expressmg hIS views about ihe current sutuation in

| Manrpur Reproduce the probable form of the letter. N

Or

You are K. Rose of Chingmeirong, imphal. Write a letter to your friend

Sunita Kaur of Sector 27, Chandigarh telling her why you want to become
a doctor.

Mgke note:s: of ‘the main poiris: of the following passage and write & |

o summary:using the poinis : 3+3=6

When a large nurber of peopie are starving because they do not

_have enough to eat, we say ‘there is & famine’. Famines have been

48
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common throughout human history. Famines may be caused by climatic
diéasters such as drought and flooding. A drought can destroy crops
that need rainwater to grow properiy' and ﬂo_odwaie’rs can dro@n érops
and sweep them away. Human action can also cause famines. There
were a nﬁmber of famines in parts of Europe during World War if. Many
famines, in African countrigs in particular, occurred during Civil wars.

The wars disrupt farmers’ work and make the distribution of food difficult.

9. You are Joyson the General Secretary of ABC Schooi Your school is
orgamsmg a 4-day trekkmg trip to the Kangkhui caves in Ukhrul dsstnct
from June 15 to June 18, 2010. Write a notice for dzsplay on the school
notice board informing interested students to contact you on or before
May 25, 2010 during school hours. 4

SECTION-C
(GRAMMAR)

10. Rewrite. t.h'e-_'fdﬂoveving sentences inserting appropriate determiners
wherever hécéssary : f4f=2
() There is not milk in the bottle.

(b) 1gave the begaar flour
76 BM 1E(N) 6 Contd.
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11. Fillin the blanks with Correct modals - frt=2 (0) Ghevasioowaak ko cimbiihehil,
h intc - g t _
(a) The coach has ordered that he play today. FC ange nto a.complox sentence)
' — 2 , i following : i=
(o) During the examination last year | - 230 ail pight, R e ik ¥ _2-
| : : . We have done it after all, ___. 2 ®
12. Change the voice of the following seniences : 1+1=2 (8- Vg has 2 oo -t <l
(b) ‘TheywenttoDelhi, _________?.
(a) Wa._s he cheered by the audience ? (b) & Rl ; . s
. . 17. Rearrange the followin wdrds and phrases to make a senterice ;' 1
(b) | could not hear what you said. 9 vvareandy nee
A8 , : my friend / whe/ him /| / my eﬁemy / destroy./ | make
13. Change the narration of the following sentences 144=2 -
' ) W SECTION-D
(a) “God save our leader I” said the pecple.
(LITERATURE)
(h) The crow said to the fox, “ Are the grapes really scur ?” g o
18. Answer any two of the following questions in about 30 words each
11 Newrite the following sentences using the correct forms of the tenses of 540=4
the verbrs within brackeis : 1ei=2 .. | |
. {a} Why did Sycorax imprison Ariel and the other fairies inside trees ?
Shakespeare {be) still the most quoted writer in history. His plays already ,
e : ' (b) “No, somehow he must have the other dress.”
{lransiate) inio filty languages.
| | . _ . Why did the taitor think that he must have the other dress ?
1H  iransform the following sentences as direcied : 1+1=2 :
) _ . (c) “The egg trick was ruined.”
(.t) He is strong but is a coward.
) . _ How was the egg trick ruined ?
(Change into a simple sentence)
- 75 R 1E(N). 8 Contd.
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19. ‘Answer any four of the following questions in about 30‘-words’ each :

(a) How does the poet, William Wordsworth describe the song of the

Cuckoo ? 2

(b) 'Why does the poet, John Keats say that man too has his. “winter of

palé misfeature” ? 2

© “And SOy ......ccomwmree.” 2
Whv did the noet, Robert Frost feel sorry ?

(d) “When the time is right | will come to you” 2
.Why did Upagupta say so to the dancing gir_li ?

(e) “Sing of the begger and the lepe - 2

Explain the significance of the line.

20. Why did Livingstone speak aloud to himseff 2 Yy

21. Answer either of the following questions in about 90 words : &

“The one means of being saved from bani'(ruptcy"and disgrace is the
death of that man.”

How did the banker come to this decision 7

Or

76 M 1E(N) g | Contd.
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“Peb_ple were attracted to him as bees attracted to cosmos or dahlia
sﬁc';ks?." g8
Why were people atrracted to the astrcloger ? X
22. Boy Father it lS true. They are not hungry, they are not ill, but they -
| | suﬂer.
\ Why did thé-élévés suffer if they were not hungry and i_[l ;I -5
Or
lemgstone | have failed My son, you must go God be wnth you

Why did megstone ask the slave boy to go wath the trader'?
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